SR N O BB = DRk B (544 A 1 HEE)

1TEOA LR
i SRR RS RICHE T D &t HER kil b oo By
FEUE L 70 B IHS (N) (%) &4 (N) (N) (%) | EBtpE
Eo 2 15
HHifi 1
o - BORT - RARET - R - e PR !
1 #% T A E R 47 21.8
TRE T 0 %
89 41.2 =]
PE 0 )
at 47
=T 49
2%k | EEORH 421 19.4
at 42
T 35 ¥
3k EEOWH 35 16.2 35 16.2] &
it 35 e
AR A 33
s R R 0 2
$
B - FH R - R - = Rl 0 i
4k mEIEE - RER - TR - BER - RO 44, 20.4 44 20.4 "
% B 7 1%
S
%E 4 i
at 44
T - WEER¥EE 2 ST D EM et 27 3+
5%& ,fé M %fﬁ%f’%%%g'?”é?f’%%%*ﬁ 27 12 5 27 12 5 E/\
W e R S A Ay B R A D : . B
W L ™
B3 14
. s ES
2 . po s . . bo S
6 Nirs tmoms R R eore g
%
at 15
IS 3
HEWRE 1
B s . . 2E il
7 ;'f‘& ;E@?%ﬁﬁ{kﬁ 723% u%%%?%)%% 6 2.8 Z;%i 1 6 2.8 E
)
HOFERE 1
#t 6
&Ft 216 100.0




S S O OB Z & ol BE %k (SR 544 A 1 HIE)
TRETT B A Bk 2

s | OB RIS 2\ BUE T A RER
HLUE L 70 2 S N %) | mes | O
THELEF 0
ke =
L () HEREORS R i B
(2) BB O e 0
7 0
HA%E 1
o () HeEREOR: S i :
(2) BB O S S 0
7 2
<%§ﬁf@§fkmﬁﬁ%%g&f BB L
o | D HRERRE DR
ST @) HHOmEREBE LT 5 2 20.0F !
B g% -
i 2
THELRTF 2
ke =
(1) OB LR e 3 HEER !
o LT BRI DR I
@) RN oBREAL. o, 6 00.0FER 2
R 7 ST %17 5 25 ST B DTS
BT 1
7 6
&t 10 100.0




